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Fiber Compaction Persistence Length Gyration Coeflicient
Structure Source 1/v (kb/pm) £ (107 pm) v (1072 pm? /kb)
dsDNA® n vitro [11] 2.96 40—47 27.2—-32
dsDNA® n vitro [12] 2.86 53 37
dsDNA® n vitro [14]  2.90 — 2.96 15—86 10—60
dsDNA this paper 2.94 50 34
10 nm *  this paper 8.0 30 7.4

chromatin® in wvitro [15] 2.9 30 20.4 CE
chromatin  n vivo [69] NA NA ~ 4° 1
chromatin  theory [65] 120 220 3.6

30 nm” in vivo [44] 145 197 2.72

30 nm*® in vivo [21] 901 28 0.62

30 nm theory[66] 108—137 196—272 1.4-25

30 nm  compilation[63]  90—1169 137—440 2.4—9.8

30 nm this paper 91 126 2.8
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